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BIOLOGY ( Part I ) — BOTANY
( Kannada and English Versions )

( New Syllabus )

Time : 1 
1
2  Hours ] [ Max. Marks : 45

( Kannada Version )

‚ÂÍºÂ»πÂ›ÂÈ : i) •πÂ∆ÂWê«Q√ ü˘ÊπÂπÂ›Â»ÂÈR πÂÈ¬ÂÈãö«Â Ñ∆ÂXπÂ›Â»ÂÈR èâö.

ii) ü˘ÊπÂ πÂÈ¬ÂÈã‚Â«Â Ñ∆ÂXπÂúπ •¢∑ çË√Â£ÊπÂÈÕÂÏå‹Y.

ü˘ÊπÂ - A

® x›ÂÇ»Â …ÂX‡RπÂúπ ≤¢«ÂÈ …Â«Â •«˘̊ÂÕÊ ≤¢«ÂÈ ÕÊ∑W«ÂëY ©∆ÂOàö : 5 × 1 = 5

1) …ÌXáË» Ỗ ‚Â¢‡YË·Â}Œ⁄πÂÈÕÊπÂ Œ⁄ÕÂ àËãŒÈ ¶¬ ỖØ» ỖØ ( RNA ) πÂ›ÂÈ •ÆÈÚ»ÛË

¶ÆÂÈYπÂ›Â»ÂÈR ¬ÚüÛ‚ÛËÆÂ¤ Ỗπ xÍ¢√ÛŒÈÈW∆ÂOÕ ?

2) »ÊúyÊ ÕÂ«Â̧̆ »Â ‚ÂO¬Â ( Vascular Cambium ) «ÂëY¬ÂÈÕÂ ÜËÕÂxÍË‡ÂπÂ›Â ê«Â̆ÕÂ»ÂÈR „‚Âàö.

3) xÍË‡Âè˘ãO ≤∆ÂO√Â ( Wall pressure ) ÕÂ»ÂÈR ç¬ÂÍéö.

4) Œ⁄ÕÂ ∑≈«Â •¢πÂ ( Cell organelle ) «ÂëY xXü˜Ô»Â ºÂ∑X ( Kerb's cycle ) »Â√ŒÈÈ∆ÂO« ?

5) yÊíÈ …Â∑ZπÛú‚ÂÈÕÂ ÄXûÈŒÈëY Ã›Â‚ÂÈÕÂ ∑Î∆Â∑ Øå˘˚ë» Ỗ ( Synthetic ethylene ) •ç‹ÕÂ»ÂÈR

è√ÂÈπÂ√πÛú‚ÂÈÕÂ ‚Â¢ŒÈÈ∑O Œ⁄ÕÂÏ«ÂÈ ?
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ü˘ÊπÂ - B

® x›ÂÇ»Â …ÂX‡RπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ±«ÂÈ …ÂX‡RπÂúπ ‚ÂÈÆÂ⁄¬ÂÈ Ø¬Â√Âà¢«Â ±«ÂÈ ÕÊ∑WπÂ›ÂëY

©∆ÂOàö : 5 × 2 = 10

6) …ÂÌÕÂ̧ xË¢«ÂX∑Ô   ÜË» Ỗ   ( Prokaryotic gene )   ÆÂÈ∆ÂÈO   çæxË¢«ÂX∑   ÜË» Ỗ  (

Eukaryotic gene ) πÂúÇ¬ÂÈÕÂ Œ⁄ÕÂÏ«Ê«Â¬ÂÍ Ø¬Â√ÂÈ ÕÂW∆ÊW‚ÂπÂ›Â»ÂÈR ãúö.

7) ∆Âú ¬ÂÍ…Ê¢∆Âà∆Â ‚Â‚ÂW ( Transgenic plant ) Ø¢«Â¬Ò»ÂÈ ?  ≤¢«ÂÈ ©«Ê„Â¬Â} xÍâ.

8) ÆÂÈÎ«ÂÍ∆ÂÍ∑ ( Parenchyma ) •¢πÊ¢‡Â«Â Œ⁄ÕÂÏ«Ê«Â¬ÂÍ »Ê‹È@ πÂÈ≈‹∑\≈πÂ›Â»ÂÈR Ã¬íÈà.

9) ü˘Ê·ÂSê‚Âæ¸»    ç¬ÛË«˘Â∑    ÕÂ‚ÂÈOπÂ›¢«Â¬Ò»ÂÈ ?     Ø¬Â√ÂÈ    ü˘Ê·ÂSê‚Âæ¸»    ç¬ÛË«Â̆∑        

( Antitranspirants ) ÕÂ‚ÂÈOπÂ›Â»ÂÈR „‚Âàö.

10) ∑Î∆Â∑ ¶Ä]»˜πÂ›Â Ô ( Synthetic Auxins ) Ø¬Â√ÂÈ •»ÂZŒÈπÂ›Â»ÂÈR Ã¬íÈà.

11) ü›ÂÕÂäπŒÈ ÕÂ∑X ( Growth curve ) ÕÂ»ÂÈR ∆ÛËà‚ÂÈÕÂ πÊXÀÂ»ÂÈR ¬ÂÑö, •«Â¬ÂëY ü›ÂÕÂäπŒÈ

„Â¢∆ÂπÂ›Â»ÂÈR πÂÈ¬ÂÈãö.

ü˘ÊπÂ - C

® x›ÂÇ»Â …ÂX‡RπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ »Ê‹È@ …ÂX‡RπÂúπ •ÕÂ‡ÂWê«Q√ ‚ÂÈÆÂ⁄¬ÂÈ 200 - 250

…Â«ÂπÂ›ÂëY ©∆ÂOàö : 4 × 5 = 20

12) ÀXâXy Ỗ ÇXé˘∆ Ỗ»Â …ÂXûÍËπÂπÂ›Â»ÂÈR ¶«Â̆àö ØÕà Œ⁄ÕÂ àËãŒÈëY âØ» ỖØ ≤¢«ÂÈ •»ÂÈÕÂ¢òËŒÈ

ÕÂ‚ÂÈO Ø¢«ÂÈ ‚Êå˘ö ∆ÛËàö«Â»ÂÈ ?

13) ¶»ÂÈÕÂ¢ò∑ ∆Â¢∆ÂXqÊ»Â ( Genetic engineering ) «Â ÆÂÈÍ‹∑ ß»ÂÈ]ë»Â»ÂÈR ©∆ÂSãO ÆÂ⁄√ÂÈÕÂ

ê«˘Ê»ÂÕÂ»ÂÈR êÕÂàö.
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14) ‚JÆÂ¤ Ỗ ‚£ Ỗ ∑‹E¬˜Ô ( Stem cell culture ) Ø¢«Â¬Ò»ÂÈ ?  •«Â¬Â Œ⁄ÕÂÏ«Ê«Â¬ÂÍ »Ê‹È@

•»ÂZŒÈπÂ›Â»ÂÈR …ÂáJ ÆÂ⁄â.

15) ¶„Ê¬Â xÍ›ÂÕ •¢πÊ¢‡Â ( Phloem tissue ) «Â ü˘ÊπÂπÂ›Â»ÂÈR πÂÈ¬ÂÈãö«Â •¢«ÂÕÊ«Â Ñ∆ÂX

Ã¬«ÂÈ, •«Â»ÂÈR êÕÂàö.

16) …Â∆ÂX¬Â¢«̆ÂX ºÂ‹»Ê ê«˘Ê»Â ( Stomatal movement ) ÕÂ»ÂÈR ‚ÊJº Ỗ̧  „Ú√ÛXËëö‚ Ỗ ( Starch

hydrolysis ) ö«ÊQM¢∆Â«Â ÆÂÈÍ‹∑ öJËÕÂ√ Ỗ̧  „Òπ ç¬ÂÍéö«Â»ÂÈ ?

17) ÃÈ¬ÂÈπÂÈêx ( Fermentation ) Ø¢«Â¬Ò»ÂÈ ?  ÆÂÈ«ÂW‚Ê¬Â ÃÈ¬ÂÈπÂÈêx ( Alcoholic

fermentation ) ÆÂÈ∆ÂÈO £ÊWÄJy˜Ô ¶ÆÂÈY ( Lactic acid ) ÃÈ¬ÂÈπÂÈêxπÂ›Â»ÂÈR êÕÂàö.

ü˘ÊπÂ - D

I. ® x›ÂÇ»Â …ÂX‡RπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ≤¢«ÂÈ …ÂX‡Rπ ©∆ÂOàö :

18) •ºÂÄXËŒÈ «ÂÈWãÀÊ‚ÛTËàëË∑¬Â≈ ( Non-cyclic photophosphorylation ) ÕÂ»ÂÈR

∆ÛËà‚ÂÈÕÂ {√ Ỗ ö@ËÆÂ¤ Ỗ ( Z-scheme ) »Â ¬ÒzÊÑ∆ÂXÕÂ»ÂÈR Ã¬íÈà. 5

19) ® x›ÂÇ»ÂÕ ÂÏπÂúπ ≤¢«ÂÈ ÕÊ∑W«ÂëY yÊ¬Â≈ xÍâ : 5 × 1 = 5

a) UAG ≤¢«ÂÈ ÆÂÈãõË»Â ‚Â¢xË∆Â ( Nonsense codon ).

b) çŒÈ¢∆ÂX≈ Ø¢√ÛË»ÂÈWÄYûÈË‚Â‚ Ỗ ( Restriction endonucleases ) •≈È ∑∆ÂOà   

( Molecular scissors ) πÂ›¢«ÂÈ ∑¬å«ÊQ¬.

c) ÆÂÈ›πÊ‹«ÂëY ÆÂÈ¬Â«Â üÊÇ‹ÈπÂ›Â»ÂÈR ∆¬ŒÈ‹È ÆÂÈ∆ÂÈO ÆÂÈÈºÂE‹È ∑·ÂJÕÊπÂÈ∆ÂO«.

d) ∑èU»ÂëY ©¢πÂÈ¬Â …ÂXûÍËπÂ ( Girdling experiment ) ÕÂ»ÂÈR ÆÂ⁄√Â£ÊπÂÈÕÂÏå‹Y.

e) ö.Ø.ØÆÂ¤ Ỗ. ( CAM ) ‚Â‚ÂWπÂ›ÂëY»Â …Â∆ÂX¬Â¢X«Â̆πÂ›ÂÈ „ÂπÂ‹ëY ÆÂÈÈÑE¬ÂÈ∆ÂOÕ.
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II. (…ÊXûÍËÇ∑ …Â¬Â̇W∑XÆÂÈ«Â …ÂX‡RπÂ›ÂÈ ÆÂ⁄∆ÂX)

® x›ÂÇ»Â Œ⁄ÕÂ Ï«Ê«Â¬ÂÍ ≤¢«ÂÈ …ÂX‡Rπ ©∆ÂOàö :

20) ü˘ÊπÂπÂ›Â»ÂÈR πÂÈ¬ÂÈãö«Â •¢«ÂÕÊ«Â Ñ∆ÂX«Û¢åπ, ‚Â¬Â›Â …ÌË|ÛËêÈË¡¬ Ỗ ( Simple

potometer ) …ÂXûÍËπÂÕÂ»ÂÈR êÕÂàö. 5

21) a) xÍËüÊ£ ỖJ xÍYË¬Ú√ Ỗ yÊπÂ«Â«Â …ÂXûÍËπÂ«ÂëY x›ÂÇ»Â yÊπÂ«Â …ÂáJŒÈÈ ÆÈËë»Â

yÊπÂ«Â …ÂáJíÈ¢«Â „ºÂÈE üÒπÂ» πÂÈ£Êè Ã≈Nx@ ã¬ÂÈπÂÈ∆ÂO«. ∞x ? 1

b) …Â∆ÂX¬Â¢«̆ÂX ÕÂWÕÂ‚P ( Stomatal apparatus ) ŒÈ»ÂÈR Ã¬«ÂÈ, „‚Âàö. 2

c) πÊW»Ê¢πÂ»Â ‡ÊZ‚ÂÄXŒ⁄ÆÂ⁄…Â∑ ( Respiroscope ) «ÂëY è√ÂÈπÂ√Œ⁄πÂÈÕÂ •ç‹

Œ⁄ÕÂÏ«ÂÈ ? 1

d) àûÍË ( Rhoeo ) Ø£ŒÈ»ÂÈR ©éS»Â «ÊXÕÂ≈«ÂëY „ÊÄ«ÊπÂ •«Â¬Â ÜËÕÂxÍË‡ÂπÂ›Â

xÍË‡Â«ÂXÕÂ ( Protoplast ) ‚Â¢∑ÈÑ∆ÂπÛ›ÂÈ_ÕÂ ÄXûÈŒÈ»ÂÈR „‚Âàö. 1
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 ( English Version )

Instructions :

i) Draw diagrams wherever necessary.

ii) Unlabelled diagrams do not get any marks.

PART – A

Answer the following questions in one word or in one sentence each :

5 × 1 = 5

1. Which RNA carries amino acid to the ribosome during protein synthesis ?

2. Name the type of cells present in vascular cambium.

3. Define wall pressure.

4. In which cell organelle Kreb's cycle occurs ?

5. Name the synthetic ethylene releasing compound used as a fruit ripener.

PART – B

Answer any five of the following in 2 to 5 sentences each : 5 × 2 = 10

6. Mention any two differences between a prokaryotic gene and an

eukaryotic gene.

7. What is a transgenic plant ? Give an example.

8. Mention any four salient features of parenchyma tissue.

9. What are antitranspirants ? Name any two antitranspirants.

10. Write any two applications of synthetic Auxins.

11. Draw a graph showing the typical growth curve and mark the phases of

growth in it.
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PART – C

Answer any four of the following in about 200 to 250 words each

wherever applicable : 4 × 5 = 20

12. Based on the discovery of Griffith how Avery proved that DNA is the

genetic material ?

13. Describe the technique of insulin synthesis in brief through genetic

engineering.

14. What is stem cell culture ? List any four applications of stem cell culture.

15. With a neat labelled diagram explain phloem tissue.

16. Explain starch hydrolysis theory of stomatal movement proposed by

Steward.

17. What is fermentation ? Explain alcoholic fermentation and lactic acid

fermentation.

PART – D

I. Answer any one of the following :

18. Write out the Z-scheme for non-cyclic photophosphorylation. 5

19. Give reasons for the following in one sentence each : 5 × 1 = 5

a) UAG is a nonsense codon.

b) Restriction endonucleases are called molecular scissors.

c) It is difficult to open and close wooden shutters during rainy

season.

d) Girdling experiment cannot be performed in sugarcane plants.

e) CAM plants close their stomata during daytime.
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II. ( Questions only from practical syllabus )

Answer any one of the following :

20. Describe simple potometer experiment with a neat labelled diagram.

5

21. a) In cobalt chloride paper experiment the lower strip of paper

turns pink faster than the upper strip. Why ? 1

b) Draw and label stomatal apparatus. 2

c) Name the gas liberated in Ganong's respiroscope. 1

d) Name the phenomenon of shrinking of protoplast when the

Rhoeo leaf is placed in sodium chloride solution. 1

                  


